Q.P. Code :34796

[Time: 02:30 Hours]

Please check whether you have got the right question paper.

N.B: 1. Both sections are compulsory.

A) Answer in detail (any three):-

B)

1)

2)

3)

4)

5)

Explain any two verbal learning disability with the help of its characteristics.
How can the reading skills be assessed across primary levels?

A 10 year old child has issues with written expression. What are the intervention
strategies that can be useful for the child.

Explain curriculum adaptation with the help of its types.

What are the provisions for children with learning disability at school level?

Answer in brief (any four):-

6)
7)

8)

9)

10)

11)

Explain Non Verbal Learning disability with the help of its characteristics.
Write a short note on Teacher made tests.

Why is transition planning important for children with learning disability.

Mention any four study skills to enhance the learning of a child with learning
disability.

What are the advantages of using technology?

Discuss the different types of standardized tests.

[ Marks:60]

36
12

12

12

12

12

24
06

06

06

06

06

06

Turn Over



Q.P. Code :34796

2
(ATt STgag)

(3% ) (TRTTTO: o)
g %, gl fauE AHER eTed.

37) Hiowd IW @1 (FvTad )

2.

AfITeATAT HETH RIVICATE! GF WTegeh 1L JTETHAT T .

TTfieh TS e hivedT™ JodTh HYl 8% Iehd ?

TSI 20 YA AT TREH AR I8 TUen Iq 37, I GeArdt
T ST ATV €Ol <hIvTe ?

TSR TIhe STTUT T ThR TSE o6l

T TAEE ST STFAT SO ATHIS! hIvT IV GGl 3Ted ?

AR I foTgT (SRiuTag! Tm)
AfITSCAT= A 27-MTfogeh TR STeTHdT TISE .

Trerer fafifa T mefier engema v fomrn.

ST TGHAT STHOTT GATETS! HShAITAA RIS <l HEwaT= 37T ?

ST AT SFHOTAT TATHT HELFIATAT IoH QUATEIS! HIVCATE] TR
STVATETAT IR Iech@ .

90, TIYM TR S RS IRd ?

99 Tafag Jer=an yHIfiTd =MEvITeR == *U.

3%
R

R

R

R

R

¥
0%

0%

0%

0%

0%

0%

Turn Over



g0.

2%.

Q.P. Code :34796

3
(=)

QUE-%
frafefad st & & foredl i et & faeqa s fora|

fergt o1 Miflges STRrm 27emar hi SHh fomwarett i we=aT 4 e
Hife

TIfieh T 9T UG ShISST i 3ATehai hal foRam ST Gehdl 27

Teh 20 YT oTcteh o foiftga s1firsafed & grafra gaen 2 39 foau
HI9 T gEIST WHITT HgrEeh B ?

ITS<IshH JTThe ohl IToh YR oh SR T STEAT Fhiferd |
foramerft TR W ATy 7T aTel STeteh] B T YEHH 8 7

T us - g
=1 faftga oot o forrdl T aeat & gt SR foran|
ARger AR 31eTHar <hl Ieh! faRIvarsT & UR W s3I il

et fafiq ufteror v wférea feoad foran)

TR 7T AT TSI B HSHHUT AT (ST TATHT) T
AT B 7

SR THAT AT STkl | IR 1 S@ET e aTcll Tl IR Ter—e
SISl T == I

TR o SN o T A1 27

fafi yehR o ATehiha diegon W == .

(A 37 : €0)

3%
R

R

R

22
22
%
og,
oF,

0%

0%

0%

0%



